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Histogram Vars
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Positive Hel (ON): -0.201343 +/- 0.001155

Negative Hel (ON): -0.201013 +/- 0.001150
Positive Hel (OFF): -0.152703 +/- 0.001653
Negative Hel (OFF): -0.152196 +/- 0.001656

Sums and Diffs

On Diff: -0.000330 +/- 0.000528
Off Diff: -0.000506 +/- 0.000753
On Sum: -0.402355 +/- 0.002244
Off Sum: -0.304899 +/- 0.003222

Asymmetries

On Asym: 3.386283 +/- 5.416321 (ppt)
Off Asym: 5.195337 +/- 7.727635 (ppt)

-------- Bkgd Subtraction

BkSub Sum: -0.097456 +/- 0.003926
BkSub Asym: -1.809054 +/- 9.436783 (ppt)
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Run 5412 quartetwise, posHO vs time
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Run 5412 quartetwise, asymQOsub vs time

%10

200

Entryd

1500

1000

500

—~500

—1000

=
_|IIII|IIII|IIII|IIII|IIII|IIII|

-1500

=

20

40

60

BO

100

120

140

160

180

*10

200

Entryd

0.35

negHD

0.3

0.25

0.2

0.15

0.1

0.05

Run 5412 quartetwise, negHO vs time

II|IIIIIIIlIII|Illi-l%‘;illllIII|III|III|III

EEE oL
[ LRt T T e e L

=

bem

140

120

100

B0

60

40

20

O ——— P 5o Tp——— A —

%10

20 40 60 80 100 120 140 160 180 200

Entry$

Run 5412 quartetwise, bcm vs time
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